F.O.I.LL METHOD

(12¢-5) (124 (X+3)( X+2)
F o = F () ) =
0 ( = o ( ) ) =
I | . I () ) =
L = L () ) =
Answer: Answer:

(Y2 (yrd) (gh-1)(Zh-3)
F( = FC ) ) =
0 = o ( ) ) =
I = I (X ) =
L = L ) ) =
Answer: Answer:

(4n +3) (n+a) (2a+4)(5a-0)
F = F ( ) ) =
0 ( = o ( ) ) =
I = I () ) =
L = L ( ) ) =
Answer: Answer:

(a-2)° (3¢ +4d)°
F oo = F () ) =
o ( = o ( ) ) =
I | = I () ) =
L = L ( )X ) =

I Answer:




F.O.L.LL METHOD

Be-5)(c+>) (g +10)(2g-5)
F C ) ) = F () ) =
o ( )N ) = o ( )N ) =
I () ) = 1 () =
L ) ) = L & X ) =
Answer: Answer:

(6a+s)(5a+3) (Hx+)(6xt3)
F () ) = F ( ) ) =
o ( ) ) = 0 ( X ) =
I () ) = I () ) =
L (X ) = L ()X ) =
Answer: Answer:

(5Y-u)(3y-1) (pd-5) (4d-T)

F () ) = F O ) ) =
O ( ) ) = 0O ( X )=
I () ) = I () ) =
L () ) = L () ) =
Answer: Answer:

(3mis)(zmr3) | [ | (7n-6)(In-6)
F O ) ) = B =
o ( ) ) = o ( ) ) =
1 () ) = I () ) =
()| L () ) =
Answer: Answer:




